Math 305

Solve the following integrals.

1

Va2 — 2

10.

11.

12

13.

14.

z dx

cos 2t

Handout 1
dx
15. _
/ 1 —sinx
dx
16.
/ 14 22

17 / sin xdx
1+ cos?2x
18. /\/1 +sinz dx

19. /xsinxdaz
erdx
20.
0 /1+62x
91, / _dz
z(2+Inx)

22. /sin Vadx

23. /tana:da:
o4, / _dz
V2zx+1

z dx
25. —_—
. | 227 +1)2

2
9%. /cos xdx

sin 2x
dx
27. _
/ 22 + 92 + 20

28. / e
cot“x

/ (2z + 3)dx
29. —_
22 + 3x + 2

30. / sec’ z dx
31. /Sin(?)a:)da:
32. /ex cos(2x)dz
33. /(332 + 2z 4 5)dx
34. /tabn_1 rdz

35, /sm(lnaz) e

T

36, /Cos(e +1)daz

6—1’
37. /az(l —2)Y3da

2
38. / xcos%daz

-2

2
39. / T sin %daz

-2

2
40. / sin 7w sin 2wxdx
—2

2
41, / e
_o X%+ 22+ 2

2
42. / sin 7w sin Taxdx
)



